MAT1505-05 04S Test2 Print Name (Last, First) |

Show all work, including mental steps, in a clearly organized way that speaks for itself. Use proper
mathematical notation, identifying expressions by their proper symbols (introducing them if necessary),
and use arrows and equal signs when appropriate. Always simplify expressions. BOX final short
answers. LABEL parts of problem. Keep answers exact (no decimal approximations, if possible). [See
long instructions on reverse].
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a) Evduate S R%% e‘w dx (oy hand | showing all work ) .

b) Show that B(x) defres a Proba\oil‘l‘y distmbution fmc\'\ov\ for 0&x<®
by showing that S:b G6rdx= 4 Cuse limit notation),

¢) Find the value ¥p at which &6 was its peak \alue. y
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P(0¢xE¥) = g"f Px) dx . (use parta))
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